Name: \ €A Hour: Date:
-

4-step practice questions
1. Suppose we are interested in finding out the proportion of the POpUlat‘g'f at HF I M
has seen The Office. We contact an SRS of 100 students in the school

students, 63 report seeing The Office. Find a 95% conf dence |nterval for the {n@ _pvqyoﬂhn
of HFII HS students who have seen The Office. “%fioe=
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Name: Hour: Datel s oy

2. Mr. G has done over 50 track days at Gingerman Raceway in South Haven Michigan. He
keeps track of each lap time (in seconds) and has found that they follow an a gg_o_ig_,ﬂm,

normal distribution. A random sample of 9 laps shows WM.QZA m
with a standard deviation of s = 3.2 seconds. Create a 90% confidence interval for MW.Gs .

career average lap time.
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